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4�989/� �B�� �� �C� !D8�� ����� !� &	 ;9�0 �-� ?8�@� �����.:

1( 1�
� ��: )G���(: ���989/� !� !D8��� ?89/� �
 
	 +�2-: H 7� ���2�.

2( 1�
� ��3A ))�� $-J2�(: ���989/� !� !D8�� ?89/� �
 
	 ��� H 7� ���2�.

K-����2� 4�86�-
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	 +�2-: �
 H 7� 
���2� !� 	��
����� �	�-� ��
�	 �2��� K883� $O� & +	��� +	�P<�
�Q��� & K883� >�M� 	�< 
5- ;��. �� )�� �.
 H 7�. 

n+i)1(×= P nF

4
�>% n+i)1(�
 G-�6 �- 
����A 1�
� ��: ���� n +
&	 ���2���. ��� 
	 ������� R�� !><�L� 
; < ��	�. ���� ;B�
< 
�� S��T�� �
 !� 4
�O �B&�T 
	 
�8�#� �� 
��0 ���2�	 !� �<�� 

�	�9% �: n �- +
&	 �- ��< & �U< �@A� �: i �- )�� +�
� ���.��.

Fn = P × FVIF(i,n) FVIF(i,n)= (1+i)n

•)!�V� : 
	 ?0
 5- ��: 1�
� 
����A �&�T !� ?W�96 �&�T	�. !3T���(.
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	 M�>� !� ��
�O100,000  4�� ���� ��-
5  )�� �� ����� 
	  ��<10 % ��< ��-�� 
	 	�. +	�P<

 ^;.�	 ����# 	�T& S��� 
	 
�@� ?D2�

n+i)1(×= P nF

161000= 1.61 ×100.000 = 5)0.1+ 1 (×100.000 = nF
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n+i)1(×= P nF
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	 ��  =m  

(1 +
�

�
)�×�×= P nF

)m×,n 
�

�

(FVIF×= P nF

  →6   !��� m = 12 ÷ 6 = 2

 →3  !��� m = 12 ÷ 3 = 4
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 d�A �82�p = 1000 *i= 12% *n = 3 4
�O K-� 
	 �.��:

�B� (+�
� ��  !�R�< ��8�

1405= 1.405 ×1000 = )3% , 12(FVIF×1000 = nF1       = 
	


	

m=

S ( ��8� +�
� ��6  !���

1419=1.419 ×1000= )6% , 6(FVIF×1000 = )2×3, 
	
%

 




(FVIF×1000 = nF2       = 
	




m=

e ( ��8� +�
� ��3  !���

1426=1.426 ×1000= )12% , 3(FVIF×1000 = )4×3, 
	
%

 

�

(FVIF×1000 = nF4       = 
	


�
m=

	 ( !����� ��8� +�
� ��

1430=1.430 ×1000= )36% , 1(FVIF×1000 = )21×3, 
	
%

 

	


(FVIF×1000 = nF12       = 
	


	
m=
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+	�'�<� +�. & S��T�� �� ?� `9T  ��	�. �23- P ��� �'�� � 	�T& 	
�	 1P، 2P �� nP !� 

�� ?� 4&�'� ��
�	.

n-n+ i )1(nP+  …+2-n+ i )1(2+  P1-n+ i )1(1=  PnF
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�/ . �� ��-�� ��< �
�T ���� 3 ��< �3� !� G8��� 500 * 1500* 1500* 1500 �
 
	 ����� !� 

!�R�< 18% +�
� ����	 +	�P< �
�Q�  �� �2� 
	 ��-�� ��< �
�
� +	�>��� 
�@�  ��� ����# 

^;.�	

Fn = 500(1+18%)4-1 + 1500(1+18%)4-2 + 1500(1+18%)4-3 +

1500(1+18%)4-4=

Fn = 821.5 + 2088.6 + 1770 + 1500 = 6180.1
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2-  �&��� ��0
� :+�. +	�< ;B�� ;9�0 K-�0
� ��� �.�� �� �&����� ��0
� ��: 1�
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;<� �&��� .A→P  &nS→nF �� +	�	 ��7�	�..

)i,n(FVIFA×= A nS

(	��)��	

�
FVIFA = 

(	��)��	

�
 ×= A nS
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	 ��
�O !� !� 4�� 6 ��< !�R�< 
	 ��-�� ��< 100.000 ��-
 
	 S��� h� ������ !� )�� 

	�< !�R�< �: 18% ;<� J-
�& 	�.. 
	 ��-�� ��< ?7. �39T �2� ��-
 
	 K-� S��� 	�T& 

����# ^;.�	

FVIFA = 9.442 Sn= 100.000 × FVIFA(18%,6)= 100.000 × 9.442 = 944200

FVIFA(18%,6)=
(	�	�%)��	

	�%
= 9.442
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